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Which of the following is not a valid subscript?

(A) NUM(10) (B) A(-2) (€) AQ) (D) B(4)
The INT is: ' INT .2
(A} Built-in function u’aulul« (B) User defined function u’G,vlauw’
(C) Local function u’gﬂ (D) Function u’ﬁ
A value given to a function is known as: c—a:l%(:»f{dﬁfu;ﬁdf 3
(A) Arguments ol T (B) Parameters /I
(C) Input 25Ul (D) Output ¢/¢/l
Normally the computer monitor screen is in: :g.JnQP/?L}{V,QJ}(E 4
(A) Graphic mode u”:»fub/l/f (B) Text mode u’:b’c/?
(C) SCREEN Statement Lk (D) COLOR Statement =¥
Division by zero is: 9(‘-:”;./‘ 5
(A) Syntax.error /"/uf"ﬁ"“w (B) Logical error J;U?;’ “
(C) Runtime error zgifvu/ {D) Not an error eﬂ(iéf
GW-BASIC can operate in: :9&6/_‘/_47_45;&56 6
(A) one mode 3kl (B) twomodes (riivw
(C) three modes ufj;‘ruf (D) several modes ui’ijréf
The extension of GW-BASIC program is: e uﬁwg&,(r!/;/,_é,&ﬂ 7
(A) .bas (B) .bs (C) .doc () .xt
\Which control structure is used for decision making ’c%'./é_/,l-ej/:/"dy‘-’@fbﬁu@rﬂi& 8
in GW-BASIC? fetr i1
(A) Loop (B) Conditon ¢4 (C) Selection it (D) Sequence w7

A loop within another loop is called:
(B) ..«:’ FOR....NEXT loop

(A) Nested Loop oI
(D) Selection Structure / /‘/w

(€) _() WHILE... WEND loop
The index of each element in the array is: :‘_L"nufi'!(ufjﬂﬁg.,l .

(A) Unique »#*  (B) Similar UL (C) Odd Jb (D) Even &2
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2. Write short answers of any four parts from the

i. Define program.

iii. Define IF.. THEN...ELSE statement.
ntrol structures are available in BASIC?Write their names.

ber of steps?If yes,Why?

following. 2x4=8

i, Write the syntax of FOR...NEXT loop.
iv. Write-the syntax and flow chart of IF...THEN statement.

v. How many co

vi. Is it necessary for an algorithm to solve a problem in finite num

he following.
i How to run a program in BASIC language?

iv. Differentiate between simple and subscripted variable.

3- Write short answers of any four parts from t 2x4=8
i. What is constant?
iii. Write the use of subscripted variable in array?

v. How would you fill the array?

vi. Write the name of command that generates th
ur parts from the following.
i, Differentiate between data file and program file.

iv. For what purpose VAL function is used in BASIC?

e line numbers automatically in BASIC.
4- Write short answers of any fo 2x4=8

i, What is the use of circle statement in BASIC?
iii. Write the names of any two string functions.

v. What is the use of LOG function in GW-BASIC?

vi. Write the names of any two modes of displaying data in BASIC.
8x2=16

Section -1I

Note: Answer any two questions from the following.

5. Define Flowchart and describe six symbols of flowchart in detail.

6. What is meant by operator?Explain different operators in BASIC.

7. What is meant by DRAW statement?Explain DRAW statement with syntax and example.
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1.1. Output of print VAL("78,city Lahore") is: :‘ab‘f,.‘ATJ Print VAL("78,city Lahore") .1.1

(A) city Lahore (B) 78 city (C) 78 (D) 78 Lahore
2 Which function changes the way of displaying output in BASIC? e b/ )L;_,_»f,ufu:_,guiﬁvuf 2
(A) SCREEN (B) PRINT (C) LEFTS (D) ABS

3. The diamond symbol represents the: :;.J//;U;uwgﬂ'fl} 3

(A) Inputioutput 25T (B) Decision making Uil.led
(C) Processing fxsy (D) Remarks LPilis

4. MODis a:
(A) Logical Operator /&{TL)’/ﬁU
(C) concatenation operator ,24T01,Lu.f,*f (D) Assignment operator /2/,7.:;5’1/!
A5 S S BasiCS Sude vt its 5
Te- Qg

'£le-MOD .4
(B) Arithmetic operator %/ Tbr 4/l

5. Which of the following key is used to load

a file in BASIC?
(A) F3 (B) Fq (C)_F2 - (D) F1

et A 6

6. Sequence control structure is used to execute
(B) Instructions in order c..,i)/agl,y

(A) Loop
(D) Logicalinstruction ;.gu“)?.u

(C) IF...THEN

7. |F...THEN statement is a_____statement: e phi _‘___,g\.'):'-:’lF,..THEN ol
(A) decision making sl SLad (B) sequential Ulsss?
(C) loop (D) logical 2

8. Maximum number of elements per dimension is: I%&ﬁ)l/ju&}c_v&jtﬂj{/lﬁofug 8
(A) 10 (B) 255 (C) 32767 (D) none of these
9. Linear array is also called a e ST S i@ 9

(A) Vector array 4...1'/‘5 (B) Two-dimensional array e AFD

(C) 3-dimensional array AL

(D) Filling array </

10. The output of print "ABS(-15) is: :‘Lu/,h‘.fTJPrint "ABS(-15) .10

(A) 15 (B)-15 (C) 15.5 (D) -15.5
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2- Write short answers of any four parts from the following. 2x4=8
i. What is the use of rectangle symbol in flowchart? i’ Write two causes of syntax error.
ii. How are statements executed in sequence structure? iv. Write down syntax of FOR-NEXT loop.
v. What is the use of logical operators in BASIC? vi. Write-the’use of WHILE-WEND loop.
3- Write short answers of any four parts from the following. 2x4=8
i. Write down three important features of BASIC language. ii. What is IDE in"BASIC?
iii. Write method to save a program in BASIC. iv. Write any two uses of Array.
v. What is meant by element of array? vi. What is linear array?
) 2x4=8

4- Write short answers of any four parts from the following.
ii. Write the purpase and syntax of LOG function.

iv. Write the purpose of RIGHT$ function.

i, Write the purpose of CHR$
iii. Define User-defined function.
v. Write the names of graphics modes. vi. Define pixel.

Section -II 8x2=16

.- Note: Answer any two questions from the following.

5. Draw a flowchart to find the largest of three numbers?
6. Define logical operators.Explain different types of logical operators.
7. Explain the use of DRAW statement in GW-BASIC and give an example.
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